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THAEHERIMTE 881 933 105.9 3.0 7 X PN = 3,401 2,473 72.7 8.4
81 L7 HMABK R 6 6 100.0 0.0 8 iH 7] =1 891 839 94.2 2.8
OB BE MR E X MNR 30 14 46.7 0.0 9 % B = 3,494 1,654 47.3 5.6
10# 5 % #l X F & 43 43 100.0 01| |10 & % IH & 169 163 96.4 0.6
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(KB TFESO)




(2) mHROAR (3) —MEEFHEERIREWK R (BER)
(B ®AM) (BEhr-BAH)
F B FEIFHEN REHE |WARe/w®| BEE® g B F B ROBH g ¥ O Ot &
1 B ) 2,372 2,390 100.8 415 1T A =3 - 2,935 10.0
- 2,711 2,710 100.0 47.1 2 Y a3 & 2,394 8.1
3B B B #H M 137 139 1015 2.4 I - 308 1.0
4 = 1IF B 330 338 102.4 5.9 4 % Bh & 3,946 13.4
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6 # ™ F B 168 169 100.6 2.9 6% & M & B 4513 15.3
&it (1~6) 5,729 5,757 100.5 100.0 (1) EBREREXE 4,342 14.7
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